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But we require writing that cannot be forged

OVERVIEW
The X713 asked how we can use a X075 VW since it can be forged. MooIN
explains that this question is valid even if we maintain >n73 77707 7.
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This question is only according to *n75 72 1Y '3 (the X11»X) who states
later in the second P=p -
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That y1nw 12 P28 "1 (the X1 who maintains °n73 1"v) did not permit using

something which can be forged by all m7vw; rather he permitted it only by

1w, but not by other n1Muww, where (even) X" requires a 19 21> PRW 937
However, if we maintain (like 131> ") that according to X" that a 71 912°w 2n2 is always
7w3 there is no question for we can say that 27 was following this view of X"".

SUMMARY
TTYOR "1 requires a 7712 912° 1KY 127 by all X7 ww, but not by Pura.

THINKING IT OVER

Presumably the 77°0n >7¥ saw the transaction (of the loan). Why should not
the m%n collect from the > °13, even if we require a 7°17 212 PRW 2n2? The
requirement of a VW is (seemingly) only regarding the >72ywn but not the
n"1a!*

" 2m ' there argues and maintains that even by mnuw TXw it can be a 71> 12w 127 according to X",

% See X" "7 2,8 1Y WA

? A 3 is needed just for the divorce; therefore we are not concerned that it will be forged later. However
other N1vw which are needed for proof, there is concern that the holder of the 7vw will alter it in his favor,
(and the 77°0n *7¥ will not remember).

* See 2py> nxon.
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